Level 9 Study Guide

In the circle below, mDEF = 200°. Find
the m«DEF.

As shown in the diagram below, AB is a diameter
of circle O, and chord AC is drawn.
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If mZBAC =70, then mAC is " AC’ z
In the_ a@om_pany_ing Fiiagram, »isoss:eles trian_gle In the accompanying diagram of circle O, AB [ (_D
;f‘g m’}s,fﬂ;bed in circle O with diameter AOB. BC 1s a diameter, and radius 4O is drawn. If
mZABC =20, find mBD.
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As shown in the diagram below, quadrilateral Prove AMON ~ APQO
DEFG 1s inscribed in a circle and mZD = 86.
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Determine and state mGFE. Determine and state
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In the accompanying diagram, chords ABand CD

intersect at £. It mAC = 75 and mDB = 45, find
mZAED.

RB is tangent to a circle, whose center is A, at point B. BD is a diameter.
.

What is m£Z CBR?

In the acCompanying diagram, P_Q is tangent to
circle O at Q and PRT is a secant. If mZP =56
and mQ7 =192, find m TR,

In the accompanying diagram, PB4 and PCD are
secants to the circle. If mZP =40 and mA’-B =120,

find mBC .
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In the accompanying diagram, CD is tangent to
circle O at B, AO and BO are radii, and chord AB is
drawn. If mZAOB = 108, find mZ£ABD.

[n_the diagram below of circle O, chords AB and
CD intersect at E.
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Formulas You Need To Know

Formula: Arc Length Formula: Area of a Sector
6 0 2
l=—7—2nr Area = — X mrr
360 360

The accompanying diagram shows the path of a In the diagram below of circle O, GO = 8 and

cart traveling on a circular track of radius 2.40 mZGOJ = 60°.
meters. The cart starts at point 4 and stops at point
B, moving in a counterclockwise direction. What is
the length of minor arc AB, over which the cart
traveled, to the nearest tenth of a meter?
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——— What is the area, in terms of &, of the shaded
2,60 region?
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The diameter of of circle Bis AC, which has a length of 20cm. The m<ABD = 34°
and the m«CBE = 22°. Find the length of DE.
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In the diagram below of circle E, the area of the shaded sector DEF is 20m and
the length of the radius is 25. Determine the m<E
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Find the circumference to the nearest tenth of

a circle with the points (4, 6) and (-2, 9) as
the endpoints of a diameter.

Which point is on the circle whose equation is
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Find the coordinates of the center and the
radius of the circle with diameter CD.
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A circle whose center is the origin passes through
the point (=5, 12). Which point also lies on this
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What is the equation of this circle?
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Find the radius and the center of the circle with the equation below

X*+y? + 14y +10x-7=0

(x +5)>. (y +7)" = 8
C: (-S, -7)
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Find the center and the radius from the equation of the circle below

X*+y*+2x-30y +22 =0

(x+ )& - L\I _1syr= 204
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